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Business BASIC I11l: IF... THEN. .. ELSE

The | F/ THEN st atenment can give some unexpected results. The rules for |IF THEN
are:

1. Wien the logical expression is true, the rest of the line is executed,
except:

A. When there is an ELSE on the sane programline, execution continues to
the ELSE, then goes the next numnbered programline.

B. If thereis an inplicit or inplied GOTQ execution continues at the
target |ine.

2. When the logical expression is false, execution continues on the next
nunbered programline, except:

A. Wen there is an ELSE on the |ine, execution continues after the ELSE

The foll owi ng exanples m ght help explain some of these special cases:

Exampl e 1:
10 if A=0 then print "1" : print "2"
20 print "line 20"
Assum ng A=0 A<>0
Resul ts 1 line 20

If A equals O, then the Print statements in line 10 are executed (rule 1).
If A doesn't equal 0, then Iine 20 is executed (rule 2).

Exanmpl e 2:

10 if A=0 then 500 : print "1" : print "2"
20 print "line 20"
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500 print "end"
Assuni ng A=0 A<>0
Resul ts end line 20
end
If Aequals O, the Print statenents in |line 10 are never executed; then
execution transfers to line 500 (rule 1B). |If A doesn't equal 0, then line

20 is executed (rule 2).

Exanpl e 3:
10if A=0 then print "1" goto 500 : print "2"
20 print "line 20"
500 print "end"
Assumi ng A=0 A<>0
Resul ts 1 line 20
end end
If Aequals O, then the first Print is executed, then the execution is

transfer to line 500 (rule 1A).

executed (rule 2). The last Print statenent in line 10 is never executed.
Exanpl e 4:
10 if A=0 then print "1" print "2" el se print "3" print "4"
20 print "line 20"
Assuni ng A=0 A<>0
Results 1 3
2 4
line 20 line 20
This is a classic exanple of how ELSE is used. Either execute Print 1 and 2
or execute Print 3 and 4 (rules 1A, 2A).
Exanmpl e 5:
10 if A=0 then 500 : print "1" print "2" el se print "3"
20 print "line 20"
500 print "end"
Assum ng A=0 A<>0
Resul ts end 3
line 20
end
Print 1 and 2 in line 10 is never executed, because if A equals 0, then

If A doesn't equal

O, then line 20 is
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execution transfers to line 500 (rule 1B). |If A doesn't equal O, then the
statenments after the ELSE is executed (rule 2A).

Exampl e 6:
10if A=0then print "1" : goto 500 : print "2" : else print "3"

20 print "line 20"
500 print "end"

Assum ng A=0 A<>0
Resul ts 1 3
end line 20
end

If Aequals O, then Print 1 is executed, then execution is transfer to line
500 (rule 1B). |If A doesn't equal O, then the statements after the ELSE is
executed (rule 2A). Print 2 statement is never executed.
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